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Rozwiaz réwnania
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2x2 — 4233—2
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. Rozwiaz nieré6wnoéci

1. 2x+1 > 83@—1

2z+1 1
2. 42041 > (1

3. ()" <(
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. Oblicz

1. log, 27,

2. 10g27 3,

3. logs 2—17,

1. logix+3=0
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. 8—10g\/§$:0
3. log, 16 = 0,8

4. log,. 527 =3
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Rozwiaz nieréwnosci

1. logy (=22 —6) >0

4. log 1 3,
27

5. logi1 27,
3

6. logyy \/ga

. logiz =2+ log1 10 — 2logi1 2 5
2 2 2

Analiza matematyczna
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10.

4. (37)" < 817
5. 47 > /2

6. 95 < /3

7. log 327,
8. 10g27 3\/§

9. log\/ﬁ 3,

5. log,, (22 +3) =2 9.

6. 10g12,4 5=1

8. logylogyx =0

Oblicz z, korzystajac z wlasnosci logarytmow.

. logyz =0,5logy 1 + logy 5 — log, 4 4.

. logy(x +1) +logy(4 —2z) =1 6.

2. logg(x —4) +1 > logy(x — 6)

3. log%(x—l)—log%(:z:—i-l) <2

4. logy(x—3)+logy(z+6) > 1+logy(bzr—12) 7.

3t 3l =2

23x . 7:1:—2 — 41’-‘,—1

e?’ "l _1=0
ex—l—l — e%
7. e71—1
10. 279832,
11. /2787
12. 31710g32

. Korzystajac z definicji logarytmu, wyznacz x z réwnania.

. 5.3+l 9. gzl — ga+2 4 93z42

13. Ine?
14. Inve?

15. Iney/e

logglog, z =1

10. In(4z —1)=3

In(6x — 5) =2

12. In(logxz) =0

log:i x=2—2logh+log4
10

. In(1 — 32) = In(2? — 3)

In(x — 1)+ In(2x — 1) = 2In(x + 1)

Inz > -2

D=

. In(z2 -99) >0

1—Inz <0
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